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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes em*f:

sentence. Then mark your answer sheet.

1- Before you -——--—-- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—------- s the Kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used --———--— when he said the dog was *as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a ---—----- -- matter.
1) contradictory  2) consistent 3) colloquial 4} trivial

6- The police wondered about the man’s ---------- for committing the crime.
1) inhibition 2) motive 3) impact 4} inspiration

7- While most club members have agreed with the decision, I expect Ricky to ————
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -———--" said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
—————— dictionary.
1) skilled 2) publicized 3) eultured 4) unabridged

10- Because the hikers planned to reuniic at 4:00 P.M.,, they paused to --—-e-—- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commoily known as weed killers, are pesticides used to kill unwanted plants.

Selective herbicides kill specific targets, (11) —=====-m-- the desired crop relatively unharmed.
Some of these act by interfering with (12) —=emm=mr and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ~——-mmm-- all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of arcas (14)
--------- as wildlife habitat.

Some plants produce natural herbicides. (135) —=———-—- the genus Juglans (walnuts). or the

tree of heaven: such action of natural herbicides. and other related chemical interactions. is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill



14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Organisms must tightly regulate where and when each of their genes is expressed; otherwise,
their development encounters a different route with potentially lethal consequences. The
mechanisms that control these important time and place decisions have been of great
investigative interest. Hence. it came as a huge surprise that a major level of gene regulation
was completely unknown until the recent discovery of a class of small regulatory RNA
molecules known as micro-RNAs. Ever since, we have been racing to understand micro-RNA
function during development of multicellular animals and plants.

16- What is this passage mainly about?
1) Discovery of major levels of gene regulation
2) Development of micro-RNA in plants and animals
3) Role of investigators in deciding when and where to regulate gene expression
4) Mechanism of gene expression in development of multicellular organisms
17-  What happens when each gene of living organisms is not tightly regulated?
1) Expression of other senses will not be regulated.
2) The time and place of development changes.
3) Development may change in a way that might result in the death of the
organism.
4) The potential of micro organism to develop becomes lethal.
18- Which sentence is correctly explained in the passage?
1) Scientists are greatly inlerested in investigating mechanisms of gene
regulation.
2) The place and time of development 1s the decision of investigators.
3) Decision on time and place of gene regulation came as a huge surprise,
4) Small regulatory organizations discovered recent micro-RNA molecules.
19- What is the phrase "potentially lethal consequences' in line 2 closest in meaning to?
1} Loss of ability to die 2) Possibly resulting in death
3) Results might cause death 4) Death results in loss of ability
20- Which of the following is true about regulation of gene expression?
1) It is important when the time and place is right.
2) It is done by small RNA molecules.
3) It is controlled by microorganisms having RNA molecules.
4) It was discovered by racing to understand multicellular animals and plants.
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PASSAGE 2:

Microbiology as a hazardous profession faces new uncertainties. Since the turn of the century.
some 3500 cases of laboratory-acquired infections have been reported, more than 150 of which
resulted in death, Although with this accident rate, it might be still more sensible to be a
microbiologist than a steel worker, the profession is not entirely without risk. The risks are, if
anything, increasing as more people take up work with viruses. including viruses suspected of
causing cancer in man. Besides the risk to scientists themselves. there are also dangers posed
by the new kinds of viruses that can now be created in the laboratory and which, if they
escaped. might constitute a threat to public.

21-  Which of the following does the author state?
1) 150 infected people die in a century.
2) Rate of accidental infection in a laboratory 1s very high.
3) More than 3500 people die in each century due to infection but 150 cases are
reported.
4y 3500 laboratory related infections have occurred since the beginning of this
century.
22-  Which sentence is correct?
1) It 1s safer to be a microbiologist than a steel worker.
2) Working with viruses in a laboratory does not increase the tisk of infection.
3) Anything can happen when more people work with viruses in the laboratory.
4) The profession of being a microbiologist is not very risky.
23- What is the phrase "laboratory-acquired" in line 2 closest in meaning to?
| ) Laboratory requirements 2) Laboratory is required
3) Obtained from laboratory 4) Occurred in the laboratory
24-  Which conclusion can NOT be drawn from (his passage?
1) New viruses can escape from laboratories.
2) New viruses can be created in the laboratories.
3) Public health is in danger due to infection with escaped viruses.
4) Scientists working in the laboratory are always facing the risk of infection.
25- Which idea is correctly explained in this passage?
1) Microbiology is possibly a dangerous profession.
2) The fate of microbiologists in the laboratory is uncertain.
3) Microbiologists are not certain of their profession.
4) The profession of @ microbiologist is to face hazards.

PASSAGE 3:

In 1922 Alexander Fleming persisted in working in his laboratory even though suffering from a
cold and, in a somewhat off hand manner, added a few drops of nasal mucus to a bacterial
culture plate to see what would happen. To his great surprise. he found a few days later that
something in the mucus was killing the bacteria. The substance was the enzyme lysozyme. It
since has been found in most bodily secretions and in great quantities in the whites of eggs.
Hen egg white enzyme is a globular protein of molecular weight 14600, with 129 amino acids
in a single polypeptide chain and 4 disulfide bridges.



26-

27-

28-

29-

30-

Which statement is NOT true?

1) Killing bacterta by mucus came as a surprise to Fleming.

2) Drops from Fleming nose were contaminated with bacterial substances.
3) Drops from Fleming's nose accidentally fell on the bacterial plate.

4) Fleming caught cold from working on the bacterial plate.

What is the passage about?

I} How lysozyme kills bacteria.

2) How lysozyme enzyme was discovered.

3) How the structure of lysozyme was discovered.

4) How egg white lysozyme was killing bacteria.

Which sentence is correct?

|} Lysozyme is produced by bacteria.

2) Bacteria was responsible for the cold.

3) Some bacteria are present in nasal mucus.

4) Something in nose drops kills bacteria,

Which of the following is true about lysozyme?

1) It kills bacteria. 2) It is a secreted substance.
3) It is made by many bodies. 4) I is present only in egg white.
Which statement is correct about the structure of lysozyme?

1) 14600 amino acids are bridged together with 129 disulfide bonds.

2) It is a globular protein with four disulfide bonds.

3) It is linked to a single polypeptide chain with 4 disulfide bonds

4) 124 amino acids in lysozyme make 14600 linkages.
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